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   ات

  15   واّت اّااد اّ: ا اول

ما ا :  ّت اّاّدر ا50  ا  

ا ا :15  ا  

 ا80  ا  

 

 

وم  :ا 

ا ل اع ا : 

    ح اّق
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ّت اّوا ّاد اول: اا ا 
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ما ا :ّدر اا  ّت اّا  
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ا :ا ا 
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AB ھي قطر

ODھي قطر

CDھي نصف قطر

MN ھي وتر 

OCھي نصف قطر

CDھي قطر

ABھي وتر

ODھي نصف قطر

25

3

3

 

O

 


